> - -
< g >
o x @
— c o
§ s g
= >
;1072 31072 51072
= o (0]
5 & o
= (]
5 x £
2 5
x
1073 103k 107
c
S
5
i
[n'q
2107 ! o107 ; o107 !
g : g : 8t :
05 05 (V| SPPPPPRN. N SETITEES EERTRPRS SRR
© 50 100 150 200 250 © 50 100 150 200 250 % 50 100 150
Simulated interactions Simulated interactions
> 107 : 2107 10~
o 5 -
S =
—~ c
5 £
>10? 510 1072
< 2
c
2 T
3
7]
[0]
[

Resolution in z (um) for PV

=
o
&

H
Q

H
S

,_,
S

H
S

200 250

Simulated interactions

150 200 250
Simulated interactions

100

i
o
b

150 200 250
Simulated interactions

100

Resolution In z (um)

150 200
Simulated interactions

100

H
S

=
o
b

103k

150 200
Simulated interactions

100

250

250

=
S
w

Ratio Resolution in y for merged vertices (pm)
5
-

o
o

50 200 250
Simulated interactions

100

H
3

=
S
N

=
S
w

Ratio Resolution in z for merged vertices (1m)

0.5

150 200 250
Simulated interactions

100



	Contents
	Page 1


